# ON NEW BÉZIER BASES WITH SCHURER POLYNOMIALS AND CORRESPONDING RESULTS IN APPROXIMATION THEORY 

FARUK ÖZGER


#### Abstract

A new type Bézier bases with $\lambda$ shape parameters have been defined [30] Ye et al., 2010]. We slightly modify these bases to establish new Bézier bases with Schurer polynomials and $\lambda$ shape parameters. We construct a new type Schurer operators via defined new Bézier-Schurer bases. Also, we study statistical convergence properties of these operators and obtain an estimate for the rate of weighted $A$-statistical convergence. Moreover, we prove two Voronovskaja-type theorems including a Voronovskaja-type approximation theorem using weighted $A$-statistical convergence.


## 1. Extended BÉzier Bases

In computer aided geometric design and computer graphics parametric representations of surfaces and curves have extensively been used for modeling miscellaneous surfaces. It is important which basis functions are used if we want to preserve the shape of the curve or surface when we demonstrate a parametric surface or curve. This is why Bernstein-Bézier curve and surface representation have an important role in computer graphics. Bernstein basis functions are used to construct classical Bézier curves since they have a simple structure to use. They have also received attention for their utility in the meshing of curved geometries and the numerical solution of partial differential equations. We refer to [15, 22, 29] for recent computer graphics studies including Bézier curves or bases.

A new type Bézier bases with shape parameters $\lambda$ were defined by Ye et al. in 2010 [30. We slightly modify these bases to establish new Bézier bases with Schurer polynomials, which were defined in [25], and shape parameters $\lambda$.

[^0]Let $d \geq 0$ be a given integer and shape parameters $\lambda \in[-1,1]$. We define the following Bézier-Schurer bases

$$
\begin{align*}
\tilde{s}_{n, 0}(\lambda ; x) & =s_{n, 0}(x)-\frac{\lambda}{n+d+1} s_{n+1,1}(x), \\
\tilde{s}_{n, i}(\lambda ; x) & =s_{n, i}(x)+\frac{\lambda}{(n+d)^{2}-1}\left[(n+d-2 i+1) s_{n+1, i}(x)\right. \\
& \left.-(n+d-2 i-1) s_{n+1, i+1}(x)\right](i=1,2 \ldots, n+d-1), \\
\tilde{s}_{n, n+d}(\lambda ; x) & =s_{n, n+d}(x)-\frac{\lambda}{n+d+1} s_{n+1, n+d}(x), \tag{1}
\end{align*}
$$

where fundamental Schurer polynomials $s_{n, i}(x)$ of degree $n+d$ defined as

$$
s_{n, i}(x)=\binom{n+d}{i} x^{i}(1-x)^{n+d-i} \quad(i=0,1, \ldots, n+d)
$$

Lemma 1. New Bézier-Schurer bases have partition of unity property.
Proof. It is enough to show the equality $\sum_{i=0}^{n+d} \tilde{s}_{n, i}(\lambda, x)=1$ holds.

$$
\begin{aligned}
\sum_{i=0}^{n+d} \tilde{s}_{n, i}(\lambda, x) & =s_{n, 0}(x)-\frac{\lambda}{n+d+1} s_{n+1,1}(x)+s_{n, n+d}(x)-\frac{\lambda}{n+d+1} s_{n+1, n+d}(x) \\
& +\sum_{i=1}^{n+d-1}\left[s_{n, i}(x)+\lambda\left(\frac{n+d-2 i+1}{(n+d)^{2}-1} s_{n+1, i}(x)\right.\right. \\
& \left.\left.-\frac{n+d-2 i-1}{(n+d)^{2}-1} s_{n+1, i+1}(x)\right)\right] \\
& =s_{n, 0}(x)+s_{n, 1}(x)+\cdots+s_{n, n+d}(x) \\
& +\lambda\left(\frac{n+d-1}{(n+d)^{2}-1} s_{n+1,1}(x)-\frac{n+d-3}{(n+d)^{2}-1} s_{n+1,2}(x)\right) \\
& +\lambda\left(\frac{n+d-3}{(n+d)^{2}-1} s_{n+1,2}(x)-\frac{n+d-5}{(n+d)^{2}-1} s_{n+1,3}(x)\right)+\cdots \\
& +\lambda\left(-\frac{n+d-5}{(n+d)^{2}-1} s_{n+1, n+d-2}(x)+\frac{n+d-3}{(n+d)^{2}-1} s_{n+1, n+d-1}(x)\right) \\
& +\lambda\left(-\frac{n+d-3}{(n+d)^{2}-1} s_{n+1, n+d-1}(x)+\frac{n+d-1}{(n+d)^{2}-1} s_{n+1, n+d}(x)\right) \\
& -\frac{\lambda}{n+d+1} s_{n+1,1}(x)-\frac{\lambda}{n+d+1} s_{n+1, n+d}(x)
\end{aligned}
$$

Since Schurer operators satisfy the equality $\sum_{i=0}^{n+d} s_{n, i}(x)=1$ we get the desired result.

Rest of the paper is organized as follows: In Section 2, $\lambda$-Schurer operators are constructed and corresponding approximation results are obtained. In Section 3,
some statistical approximation properties of defined operators are studied and an estimate for the rate of weighted $A$-statistical convergence is established. In Section 4, two Voronovskaja-type theorems including a Voronovskaja-type approximation theorem using weighted $A$-statistical convergence are proved. Final section of the paper is devoted to give some concluding remarks including some future studies.

## 2. $\lambda$-Schurer operators and corresponding results in approximation THEORY

A new type $\lambda$-Bernstein operators have been introduced by Cai et al. in 6] based on Bézier bases defined by Ye et al. in [30]. We refer to [5, 6, 20, 23, 26] for recent studies about $\lambda$-Bernstein type operators and [13, 14, 28] for some Schuer type operators.

Considering a given non-negative integer $d$, we introduce $\lambda$-Schurer operators $S_{n, d}^{\lambda}(f ; x): C[0,1+d] \longrightarrow C[0,1]$

$$
\begin{equation*}
S_{n, d}^{\lambda}(f ; x)=\sum_{i=0}^{n+d} \tilde{s}_{n, i}(\lambda ; x) f\left(\frac{i}{n}\right) \tag{2}
\end{equation*}
$$

for any $n \in \mathbb{N}$, where new Bézier-Schurer bases $\tilde{s}_{n, i}(\lambda ; x)$ are defined in (1).
Lemma 2. We have following results for $\lambda$-Schurer operators:

$$
\begin{aligned}
S_{n, d}^{\lambda}(t ; x) & =\frac{n+d}{n} x+\frac{1-2 x+x^{n+d+1}-(1-x)^{n+d+1}}{n(n+d-1)} \lambda \\
S_{n, d}^{\lambda}\left(t^{2} ; x\right) & =\frac{(n+d)^{2}}{n^{2}} x^{2}+\frac{n+d}{n^{2}} x(1-x) \\
& +\frac{2(n+d) x-1-4(n+d) x^{2}+(2(n+d)+1) x^{n+d+1}+(1-x)^{n+d+1}}{n^{2}(n+d-1)} \lambda
\end{aligned}
$$

Proof. Using definition of operators (22) and Bézier-Schurer bases $\tilde{s}_{n, i}(\lambda ; x)(1)$, we write

$$
\begin{aligned}
& S_{n, d}^{\lambda}(t ; x)=\sum_{i=0}^{n+d} \frac{i}{n} \tilde{s}_{n, i}(\lambda ; x) \\
& =\frac{n+d}{n} s_{n, n+d}(x)-\frac{n+d}{n} \frac{\lambda}{n+d+1} s_{n+1, n+d}(x) \\
& +\sum_{i=0}^{n+d-1} \frac{i}{n}\left[s_{n, i}(x)+\lambda\left(\frac{n+d-2 i+1}{(n+d)^{2}-1} s_{n+1, i}(x)-\frac{n+d-2 i-1}{(n+d)^{2}-1} s_{n+1, i+1}(x)\right)\right] \\
& =\sum_{i=0}^{n+d} \frac{i}{n} s_{n, i}(x)+\lambda\left(\varphi_{1}(n, d, x)-\varphi_{2}(n, d, x)\right),
\end{aligned}
$$

where

$$
\begin{aligned}
\varphi_{1}(n, d, x) & =\sum_{i=0}^{n+d} \frac{i}{n} \frac{n+d-2 i+1}{(n+d)^{2}-1} s_{n+1, i}(x) \\
\varphi_{2}(n, d, x) & =\sum_{i=1}^{n+d-1} \frac{i}{n} \frac{n+d-2 i-1}{(n+d)^{2}-1} s_{n+1, i+1}(x)
\end{aligned}
$$

Now we compute the expressions $\varphi_{1}(n, d, x)$ and $\varphi_{2}(n, d, x)$.

$$
\begin{aligned}
& \varphi_{1}(n, d, x)=\frac{1}{n+d-1} \sum_{i=0}^{n+d} \frac{i}{n} s_{n+1, i}(x)-\frac{2}{(n+d)^{2}-1} \sum_{i=0}^{n+d} \frac{i^{2}}{n} s_{n+1, i}(x) \\
& =\frac{x(n+d+1)}{n(n+d-1)} \sum_{i=0}^{n+d-1} s_{n, i}(x)-\frac{2 x}{n(n+d-1)} \sum_{i=0}^{n+d-1} s_{n, i}(x) \\
& -\frac{2 x^{2}(n+d)}{n(n+d-1)} \sum_{i=0}^{n+d-2} s_{n-1, i}(x) \\
& =-\frac{\left(1-x^{n+d}\right)(x(n+d)+x-2 x)}{n(n+d-1)}-\frac{2 x^{2}(n+d)\left(1-x^{n+d-1}\right)}{n(n+d-1)} \\
& =\frac{x-x^{n+d+1}}{n}-\frac{2(n+d)\left(x^{2}-x^{n+d+1}\right)}{n(n+d-1)} \text {. } \\
& \varphi_{2}(n, d, x)=\frac{n+d-1}{n\left((n+d)^{2}-1\right)} \sum_{i=1}^{n+d-1} i s_{n+1, i+1}(x) \\
& -\frac{2}{n\left((n+d)^{2}-1\right)} \sum_{i=1}^{n+d-1} i^{2} s_{n+1, i+1}(x) \\
& =\frac{2 x}{n(n+d-1)} \sum_{i=1}^{n+d-1} s_{n, i}(x)-\frac{2 x^{2}(n+d)}{n(n+d-1)} \sum_{i=0}^{n+d-2} s_{n-1, i}(x) \\
& +\frac{x}{n} \sum_{i=1}^{n+d-1} s_{n, i}(x) \\
& -\frac{2}{n\left((n+d)^{2}-1\right)} \sum_{i=1}^{n+d-1} s_{n+1, i+1}(x)-\frac{1}{n(n+d+1)} \sum_{i=1}^{n+d-1} s_{n+1, i+1}(x) \\
& =\frac{2 x-2 x(1-x)^{n+d}-x^{n+d+1}}{n(n+d-1)}-\frac{2(n+d)\left(x^{2}-x^{n+d+1}\right)}{n(n+d-1)} \\
& -\frac{2-(1-x)^{n+d+1}-2 x(n+d+1)(1-x)^{n+d}-2 x^{n+d+1}}{n\left((n+d)^{2}-1\right)}
\end{aligned}
$$

$$
+\frac{x-x^{n+d+1}}{n}-\frac{1-(1-x)^{n+d+1}-x(n+d+1)(1-x)^{n+d}-x^{n+d+1}}{n(n+d-1)}
$$

We obtain the result for $S_{n, d}^{\lambda}(t ; x)$ combining the results obtained for $\varphi_{1}(n, d, x)$ and $\varphi_{2}(n, d, x)$ since Schurer operators are linear, and Schurer operators and fundamental Schurer bases satisfy the following equality:

$$
\sum_{i=1}^{n+d} \frac{i}{n} s_{n, i}(x)=\left(1+\frac{d}{n}\right) x
$$

We again use the definition of operators (22), Bézier-Schurer bases $\tilde{s}_{n, i}(\lambda ; x) \sqrt[1]{1}$ and the following relations to prove the second part of the lemma:

$$
\begin{aligned}
& S_{n, d}^{\lambda}\left(t^{2} ; x\right)=\sum_{i=0}^{n+d} \frac{i^{2}}{n^{2}} \tilde{s}_{n, i}(\lambda ; x)=\frac{(n+d)^{2}}{n^{2}} s_{n, n+d}(x)-\frac{(n+d)^{2}}{n^{2}} \frac{\lambda}{n+d+1} s_{n+1, n+d}(x) \\
& +\sum_{i=0}^{n+d-1} \frac{i^{2}}{n^{2}}\left[s_{n, i}(x)+\lambda\left(\frac{n+d-2 i+1}{(n+d)^{2}-1} s_{n+1, i}(x)-\frac{n+d-2 i-1}{(n+d)^{2}-1} s_{n+1, i+1}(x)\right)\right] \\
& =\sum_{i=0}^{n+d} \frac{i^{2}}{n^{2}} s_{n, i}(x)+\lambda\left(\varphi_{3}(n, d, x)-\varphi_{4}(n, d, x)\right),
\end{aligned}
$$

where

$$
\begin{aligned}
& \varphi_{3}(n, d, x)=\sum_{i=0}^{n+d} \frac{i^{2}}{n^{2}} \frac{n+d-2 i+1}{(n+d)^{2}-1} s_{n+1, i}(x) \\
& \varphi_{4}(n, d, x)=\sum_{i=1}^{n+d-1} \frac{i^{2}}{n^{2}} \frac{n+d-2 i-1}{(n+d)^{2}-1} s_{n+1, i+1}(x) .
\end{aligned}
$$

Now we compute the expressions $\varphi_{3}(n, d, x)$ and $\varphi_{4}(n, d, x)$.

$$
\begin{aligned}
\varphi_{3}(n, d, x) & =\frac{1}{n+d-1} \sum_{i=0}^{n+d} \frac{i^{2}}{n^{2}} s_{n+1, i}(x)-\frac{2}{(n+d)^{2}-1} \sum_{i=0}^{n+d} \frac{i^{3}}{n^{2}} s_{n+1, i}(x) \\
& =\frac{(n+d)(n+d+1) x^{2}}{n^{2}(n+d-1)} \sum_{i=0}^{n+d-2} s_{n-1, i}(x)+\frac{x}{n^{2}} \sum_{i=0}^{n+d-1} s_{n, i}(x) \\
& -\frac{2(n+d) x^{3}}{n^{2}} \sum_{i=0}^{n+d-3} s_{n-2, i}(x)-\frac{6(n+d) x^{2}}{n^{2}(n+d-1)} \sum_{i=0}^{n+d-2} s_{n-1, i}(x) \\
& =\frac{(n+d)(n+d+1)\left(x^{2}-x^{n+d+1}\right)}{n^{2}(n+d-1)}+\frac{x-x^{n+d+1}}{n^{2}} \\
& -\frac{2(n+d)\left(x^{3}-x^{n+d+1}\right)}{n^{2}}-\frac{6(n+d)\left(x^{2}-x^{n+d+1}\right)}{n^{2}(n+d-1)}
\end{aligned}
$$

$$
\begin{aligned}
& =\frac{2(n+d)\left(x^{n+d+1}-x^{3}\right)}{n^{2}}+\frac{x-x^{n+d+1}}{n^{2}} \\
& +\frac{(n+d)^{2}-5(n+d)\left(x^{2}-x^{n+d+1}\right)}{n^{2}(n+d-1)} . \\
& \varphi_{4}(n, d, x)=\frac{1}{n+d+1} \sum_{i=1}^{n+d-1} \frac{i^{2}}{n^{2}} s_{n+1, i+1}(x)-\frac{2}{(n+d)^{2}-1} \sum_{i=1}^{n+d-1} \frac{i^{3}}{n^{2}} s_{n+1, i+1}(x) \\
& =\frac{x^{2}(n+d)}{n^{2}} \sum_{i=0}^{n+d-2} s_{n-1, i}(x)-\frac{x}{n^{2}} \sum_{i=1}^{n+d-1} s_{n, i}(x) \\
& +\frac{1}{n^{2}(n+d+1)} \sum_{i=1}^{n+d-1} s_{n+1, i+1}(x)+\frac{2(n+d) x^{3}}{n^{2}} \sum_{i=0}^{n+d-3} s_{n-2, i}(x) \\
& +\frac{2 x}{n^{2}(n+d-1)} \sum_{i=1}^{n+d-1} s_{n, i}(x)-\frac{2}{n^{2}\left((n+d)^{2}-1\right)} \sum_{i=1}^{n+d-1} s_{n+1, i+1}(x) \\
& =\frac{x^{2}(n+d)\left(1-x^{n+d-1}\right)}{n^{2}}-\frac{x\left(1-x^{n+d}\right)}{n^{2}} \\
& +\frac{1-(1-x)^{n+d+1}-x(n+d+1)(1-x)^{n+d}-x^{n+d+1}}{n^{2}(n+d-1)} \\
& -\frac{2(n+d) x^{3}\left(1-x^{n+d-2}\right)}{n^{2}}-\frac{2 x\left(1-x^{n+d}\right)}{n^{2}(n+d-1)} \\
& +\frac{2-2(1-x)^{n+d+1}-2 x(n+d+1)(1-x)^{n+d}-2 x^{n+d+1}}{n^{2}\left((n+d)^{2}-1\right)} .
\end{aligned}
$$

We get $S_{n, d}^{\lambda}\left(t^{2} ; x\right)$ combining $\varphi_{3}(n, d, x)$ and $\varphi_{4}(n, d, x)$ since Schurer operators and fundamental Schurer bases satisfy the following equality:

$$
\sum_{i=1}^{n+d} \frac{i^{2}}{n^{2}} s_{n, i}(x)=\frac{n+d}{n^{2}}\left\{(n+d) x^{2}+x(1-x)\right\}
$$

Corollary 3. We have the following relations for $S_{n, d}^{\lambda}(t-x ; x)$ and $S_{n, d}^{\lambda}\left((t-x)^{2} ; x\right)$ :

$$
\begin{aligned}
S_{n, d}^{\lambda}(t-x ; x) & =\frac{d}{n} x+\frac{1-2 x+x^{n+d+1}-(1-x)^{n+d+1}}{n(n+d-1)} \lambda \\
S_{n, d}^{\lambda}\left((t-x)^{2} ; x\right) & =\frac{d^{2}}{n^{2}} x^{2}+\frac{n+d}{n^{2}} x(1-x)-\frac{2 x^{n+d+2}-2 x(1-x)^{n+d+1}}{n(n+d-1)} \lambda \\
& +\frac{2 d x-1-4 d x^{2}+(2(n+d)+1) x^{n+d+1}+(1-x)^{n+d+1}}{n^{2}(n+d-1)} \lambda
\end{aligned}
$$

Corollary 4. We have the following relations for $S_{n, d}^{\lambda}(t-x ; x)$ and $S_{n, d}^{\lambda}\left((t-x)^{2} ; x\right)$ :

$$
\begin{aligned}
& \lim _{n \rightarrow \infty} n S_{n, d}^{\lambda}(t-x ; x)=d x \\
& \lim _{n \rightarrow \infty} n S_{n, d}^{\lambda}\left((t-x)^{2} ; x\right)=x(1-x)
\end{aligned}
$$

Remark 5. We have the following results for $\lambda$-Schurer operators and BézierSchurer bases:

- If we take $d=0$, Bézier-Schurer bases (1) reduce to the classical Bézier bases defined in 30 .
- If we take $\lambda=0, \lambda$-Schurer operators (2) reduce to the classical Schurer operators defined in [25].
- If we take d, $\lambda=0, \lambda$-Schurer operators (2) with Bézier-Schurer bases (1) reduce to the classical Bernstein operators defined in [3].

The following theorem gives the uniform convergence property of $\lambda$-Schurer operators (2) by the well-known Bohman-Korovkin-Popoviciu theorem:

Theorem 6. Let $f \in C[0,1+d]$, then we have

$$
\lim _{n \rightarrow \infty} S_{n, d}^{\lambda}(f ; x)=f(x)
$$

uniformly on $[0,1]$, where $C[0,1+d]$ denotes the space of all real-valued continuous functions on $[0,1+d]$ endowed with the norm $\|f\|_{C[0,1]}=\sup _{x \in[0,1+d]}|f(x)|$.

We achieve a global approximation formula in terms of Ditzian-Totik uniform modulus of smoothness of first and second order for $\lambda$-Schurer operators (2), and give a local direct estimate of the rate of convergence by Lipschitz-type function involving two parameters.

Definition 7. Global approximation formula in terms of Ditzian-Totik uniform modulus of smoothness of first and second order defined by

$$
\begin{gathered}
\omega_{\xi}(f, \zeta):=\sup _{0<|h| \leq \zeta} \sup _{x, x+h \xi(x) \in[0,1]}\{|f(x+h \xi(x))-f(x)|\} \\
\omega_{2}^{\tau}(f, \zeta):=\sup _{0<|h| \leq \zeta} \sup _{x, x \pm h \tau(x) \in[0,1]}\{|f(x+h \tau(x))-2 f(x)+f(x-h \tau(x))|\},
\end{gathered}
$$

respectively, where $\tau$ is an admissible step-weight function on $[a, b]$, i.e. $\tau(x)=$ $[(x-a)(b-x)]^{1 / 2}$ if $x \in[a, b],[7]$. We write $A C$ for absolutely continuous functions, then $K$-functional is

$$
K_{2, \tau(x)}(f, \zeta)=\inf _{g \in W^{2}(\tau)}\left\{\|f-g\|_{C[0,1]}+\zeta\left\|\tau^{2} g^{\prime \prime}\right\|_{C[0,1]}: g \in C^{2}[0,1+d]\right\}
$$

where $\zeta>0, W^{2}(\tau)=\left\{g \in C[0,1+d]: g^{\prime 2} g^{\prime \prime} \in C[0,1+d]\right\}$ and $C^{2}[0,1+d]=$ $\left\{g \in C[0,1+d]: g^{\prime}, g^{\prime \prime} \in C[0,1+d]\right\}$.

Remark 8. It is known by [9 that there exists an absolute constant $C>0$, such that

$$
\begin{equation*}
C^{-1} \omega_{2}^{\tau}(f, \sqrt{\zeta}) \leq K_{2, \tau(x)}(f, \zeta) \leq C \omega_{2}^{\tau}(f, \sqrt{\zeta}) \tag{3}
\end{equation*}
$$

First we obtain global approximation formula in terms of Ditzian-Totik uniform modulus of smoothness of first and second order.

Theorem 9. Let $f \in C[0,1+d], x \in[0,1]$ and $\lambda \in[-1,1]$. Then for $C>0$, $\lambda$-Schurer operators (2) verify

$$
\left|S_{n, d}^{\lambda}(f ; x)-f(x)\right| \leq C \omega_{2}^{\tau}\left(f, \frac{\sqrt{\alpha_{n, \lambda}(x)+\beta_{n, \lambda}^{2}(x)}}{2 \tau(x)}\right)+\omega_{\xi}\left(f, \frac{\beta_{n, \lambda}(x)}{\xi(x)}\right)
$$

where $\beta_{n, \lambda}(x)=S_{n, d}^{\lambda}(t-x ; x)$ and $\alpha_{n, \lambda}(x)=S_{n, d}^{\lambda}\left((t-x)^{2} ; x\right)$ are given in Corollary 3. and $\tau(x)(\tau \neq 0)$ is an admissible step-weight function of Ditzian-Totik modulus of smoothness such that $\tau^{2}$ is concave.

Proof. Let $f \in C[0,1+d], x \in[0,1]$ and $\lambda \in[-1,1]$. Defining the operators

$$
\begin{equation*}
\breve{S}_{n, d}^{\lambda}(f ; x)=S_{n, d}^{\lambda}(f ; x)+f(x)-f\left(x+\frac{d}{n} x+\frac{1-2 x+x^{n+d+1}-(1-x)^{n+d+1}}{n(n+d-1)} \lambda\right) \tag{4}
\end{equation*}
$$

we see that $\breve{S}_{n, d}^{\lambda}(1 ; x)=1$ and $\breve{S}_{n, d}^{\lambda}(t ; x)=x$, that is $\breve{S}_{n, d}^{\lambda}(t-x ; x)=0$.
Let $u=\rho x+(1-\rho) t, \rho \in[0,1]$. Since $\tau^{2}$ is concave on $[0,1]$, it follows that $\tau^{2}(u) \geq \rho \tau^{2}(x)+(1-\rho) \tau^{2}(t)$ and

$$
\begin{equation*}
\frac{|t-u|}{\tau^{2}(u)} \leq \frac{\rho|x-t|}{\rho \tau^{2}(x)+(1-\rho) \tau^{2}(t)} \leq \frac{|t-x|}{\tau^{2}(x)} \tag{5}
\end{equation*}
$$

Hence the following inequalities hold:

$$
\begin{align*}
\left|\breve{S}_{n, d}^{\lambda}(f ; x)-f(x)\right| & \leq\left|\breve{S}_{n, d}^{\lambda}(f-g ; x)\right|+\left|\breve{S}_{n, d}^{\lambda}(g ; x)-g(x)\right|+|f(x)-g(x)|  \tag{6}\\
& \leq 4\|f-g\|_{C[0,1+d]}+\left|\breve{S}_{n, d}^{\lambda}(g ; x)-g(x)\right|
\end{align*}
$$

Applying Taylor's formula we obtain

$$
\begin{align*}
& \left|\breve{S}_{n, d}^{\lambda}(g ; x)-g(x)\right|  \tag{7}\\
& \leq S_{n, d}^{\lambda}\left(\left|\int_{x}^{t}\right| t-u| | g^{\prime \prime}(u)|d u| ; x\right)+\left|\int_{x}^{x+\beta_{n, \lambda}(x)}\right| x+\beta_{n, \lambda}(x)-u| | g^{\prime \prime}(u)|d u| \\
& \leq\left\|\tau^{2} g^{\prime \prime}\right\|_{C[0,1+d]} S_{n, d}^{\lambda}\left(\left|\int_{x}^{t} \frac{|t-u|}{\tau^{2}(u)} d u\right| ; x\right) \\
& \leq+\left\|\tau^{2} g^{\prime \prime}\right\|_{C[0,1+d]}\left|\int_{x}^{x+\beta_{n, \lambda}(x)} \frac{\left|x+\beta_{n, \lambda}(x)-u\right|}{\tau^{2}(u)} d u\right| \\
& \leq \tau^{-2}(x)\left\|\tau^{2} g^{\prime \prime}\right\|_{C[0,1+d]} S_{n, d}^{\lambda}\left((t-x)^{2} ; x\right)+\tau^{-2}(x)\left\|\tau^{2} g^{\prime \prime}\right\|_{C[0,1+d]} \beta_{n, \lambda}^{2}(x) .
\end{align*}
$$

By definition of $K$-functional with relation (3) and inequalities (6)- (7), we have

$$
\begin{aligned}
\left|\breve{S}_{n, d}^{\lambda}(f ; x)-f(x)\right| & \leq 4\|f-g\|_{C[0,1+d]}+\tau^{-2}(x)\left\|\tau^{2} g^{\prime \prime}\right\|_{C[0,1+d]}\left(\alpha_{n, \lambda}(x)+\beta_{n, \lambda}^{2}(x)\right) \\
& \leq C \omega_{2}^{\tau}\left(f, \frac{\sqrt{\alpha_{n, \lambda}(x)+\beta_{n, \lambda}^{2}(x)}}{2 \tau(x)}\right)
\end{aligned}
$$

Also, by Ditzian-Totik uniform modulus of smoothness of first order we have

$$
\left|f\left(x+\beta_{n, \lambda}(x)\right)-f(x)\right|=\left|f\left(x+\xi(x) \frac{\beta_{n, \lambda}(x)}{\xi(x)}\right)-f(x)\right| \leq \omega_{\xi}\left(f, \frac{\beta_{n, \lambda}(x)}{\xi(x)}\right)
$$

Therefore, following inequality, which completes the proof, holds:

$$
\begin{aligned}
\left|S_{n, d}^{\lambda}(f ; x)-f(x)\right| & \leq\left|\breve{S}_{n, d}^{\lambda}(f ; x)-f(x)\right|+\left|f\left(x+\beta_{n, \lambda}(x)\right)-f(x)\right| \\
& \leq C \omega_{2}^{\tau}\left(f, \frac{\sqrt{\alpha_{n, \lambda}(x)+\beta_{n, \lambda}^{2}(x)}}{2 \tau(x)}\right)+\omega_{\xi}\left(f, \frac{\beta_{n, \lambda}(x)}{\xi(x)}\right)
\end{aligned}
$$

Theorem 10. The following inequality holds:

$$
\left|S_{n, d}^{\lambda}(f ; x)-f(x)\right| \leq\left|\beta_{n, \lambda}(x)\right|\left|f^{\prime}(x)\right|+2 \sqrt{\alpha_{n, \lambda}(x)} w\left(f^{\prime}, \sqrt{\alpha_{n, \lambda}(x)}\right)
$$

for $f \in C^{1}[0,1+d]$ and $x \in[0,1]$, where $\alpha_{n, \lambda}(x)$ and $\beta_{n, \lambda}(x)$ are given in Theorem 9.

Proof. For any $t \in[0,1]$ and $x \in[0,1]$ we have

$$
f(t)-f(x)=(t-x) f^{\prime}(x)+\int_{x}^{t}\left(f^{\prime}(u)-f^{\prime}(x)\right) d u
$$

Applying operators $S_{n, d}^{\lambda}(f ; x)$ to both sides of (??), we have

$$
S_{n, d}^{\lambda}(f(t)-f(x) ; x)=f^{\prime}(x) S_{n, d}^{\lambda}(t-x ; x)+S_{n, d}^{\lambda}\left(\int_{x}^{t}\left(f^{\prime}(u)-f^{\prime}(x)\right) d u ; x\right)
$$

The following inequality holds for any $\zeta>0, u \in[0,1]$ and $f \in C[0,1+d]$ :

$$
|f(u)-f(x)| \leq w(f, \zeta)\left(\frac{|u-x|}{\zeta}+1\right)
$$

With above inequality we get

$$
\left|\int_{x}^{t}\left(f^{\prime}(u)-f^{\prime}(x)\right) d u\right| \leq w\left(f^{\prime}, \zeta\right)\left(\frac{(t-x)^{2}}{\zeta}+|t-x|\right)
$$

Hence we have

$$
\begin{aligned}
\left|S_{n, d}^{\lambda}(f ; x)-f(x)\right| \leq & \left|f^{\prime}(x)\right|\left|S_{n, d}^{\lambda}(t-x ; x)\right| \\
& +w\left(f^{\prime}, \zeta\right)\left\{\frac{1}{\zeta} S_{n, d}^{\lambda}\left((t-x)^{2} ; x\right)+S_{n, d}^{\lambda}(t-x ; x)\right\}
\end{aligned}
$$

Applying Cauchy-Schwarz inequality on the right hand side of above inequality, we have

$$
\begin{aligned}
\left|S_{n, d}^{\lambda}(f ; x)-f(x)\right| \leq & f^{\prime}(x)\left|\beta_{n, \lambda}(x)\right| \\
& +w\left(f^{\prime}, \zeta\right)\left\{\frac{1}{\zeta} \sqrt{S_{n, d}^{\lambda}\left((t-x)^{2} ; x\right)}+1\right\} \sqrt{S_{n, d}^{\lambda}(|t-x| ; x)}
\end{aligned}
$$

## 3. Some statistical approximation theorems

In this section, we use weighted mean matrix method to establish statistical approximation properties of $\lambda$-Schurer operators. We also give an estimate for the rate of weighted $A$-statistical convergence of $\lambda$-Schurer operators.

Statistical convergence was first introduced in [8] and [27]. A new characterization in terms of weighted regular matrix and a Korovkin type approximation theorem through statistically weighted $A$-summable sequences of real or complex numbers have been given by Mohiuddine et al. [16, 17. For further results in weighted statistical approximation theory we refer to [11, 12] and for statistical approximation papers to [2] .

All the following notions, notations and definitions which can be found in [2, 8, 11, 12, 17, 27, are needed for the results of this part.

Definition 11. Natural density of $K$ is denoted by $\zeta(K)=\lim _{n \rightarrow \infty} \frac{1}{n}\left|K_{n}\right|$ provided that limit exists, where $K_{n}=\{k \leq n: k \in K\}, K \subseteq \mathbb{N}_{0}:=\mathbb{N} \cup\{0\}$ and vertical bars denote cardinality of the enclosed set. A sequence $x=\left(x_{n}\right)$ of numbers is called statistically convergent to a number $L$, denoted by $s t-\lim _{n \rightarrow \infty} x=L$, if, for each $\epsilon>0, \zeta\left\{n: n \in \mathbb{N}\right.$ and $\left.\left|x_{n}-L\right| \geqq \epsilon\right\}=0$.
Definition 12. $A$-transform of $x$ denoted by $A x:=\left\{(A x)_{n}\right\}$ is defined as $(A x)_{n}=$ $\sum_{k=0}^{\infty} a_{n k} x_{k}$ for a given non-negative infinite summability matrix $A=\left(a_{n k}\right), n, k \in$ $\mathbb{N}$. It is provided defined series converges for every $n \in \mathbb{N}_{0}$. If $\lim _{n \rightarrow \infty}(A x)_{n}=L$ whenever $\lim _{n \rightarrow \infty} x_{n}=L$, we say that $A$ is a regular method. Then sequence $x=$ $\left(x_{n}\right)$ is said to be $A$-statistically convergent to $L$, denoted by $\operatorname{st}_{A}-\lim _{n \rightarrow \infty} x_{n}=L$, provided that for each $\epsilon>0, \lim _{n \rightarrow \infty} \sum_{k:\left|x_{k}-L\right| \geqq \epsilon} a_{n k}=0$.

Remark 13. We have the following results for $A$-statistical convergence concept:

- If we take $A=\left(C_{1}\right)$, the Cesaro matrix of order 1 , $A$-statistical convergence becomes ordinary statistical convergence which was introduced in 10 .
- If we take $A=I$, the identity matrix, $A$-statistical convergence becomes classical convergence.
- Every convergent sequence is statistically convergent to the same limit but not conversely.

Definition 14. 16] Assume that $q=\left(q_{n}\right)$ is a sequence of non-negative numbers so that $q_{0}>0$ and $Q_{n}=\sum_{k=0}^{n} q_{k} \rightarrow \infty$ as $n \rightarrow \infty$. Then $x=\left(x_{n}\right)$ is called
weighted $A$-statistically convergent to $L$, if, for every $\varepsilon>0$,

$$
\lim _{n \rightarrow \infty} \frac{1}{Q_{n}} \sum_{k=0}^{n} q_{k} \sum_{m:\left|x_{m}-L\right| \geqq \epsilon} a_{k m}=0
$$

In this case, we write $S_{\mathbf{A}}^{\widetilde{N}}-\lim _{n \rightarrow \infty} x_{n}=L$.
Remark 15. 16] The weighted $A$-statistical convergence generalizes $A$-statistical convergence, which we recover by putting $q_{n}=1$ for all $n \in \mathbb{N}$.

We now give main results related to statistical approximation of operators in (2).

Theorem 16. Let $A=\left(a_{n k}\right)$ be a weighted non-negative regular summability matrix for $n, k \in \mathbb{N}$ and $q=\left(q_{n}\right)$ be a sequence of non-negative numbers such that $q_{0}>0$ and $Q_{n}=\sum_{k=0}^{n} q_{k} \rightarrow \infty$ as $n \rightarrow \infty$. For any $f \in C[0,1+d]$, we have

$$
S_{\mathbf{A}}^{\widetilde{N}}-\lim _{n \rightarrow \infty}\left\|S_{n, d}^{\lambda}(f)-f\right\|_{C[0,1]}=0
$$

Proof. Consider sequence of functions $e_{j}(x)=x^{j}$, where $j \in\{0,1,2\}$ and $x \in[0,1]$. It is sufficient to satisfy

$$
S_{\mathbf{A}}^{\widetilde{N}}-\lim _{n \rightarrow \infty}\left\|S_{n, d}^{\lambda}\left(e_{j} ; x\right)-e_{j}\right\|_{C[0,1]}=0, \quad j=0,1,2
$$

From Lemma 2 it is clear that

$$
\begin{equation*}
S_{\mathbf{A}}^{\widetilde{N}}-\lim _{n \rightarrow \infty}\left\|S_{n, d}^{\lambda}\left(e_{0} ; x\right)-e_{0}\right\|_{C[0,1]}=0 \tag{8}
\end{equation*}
$$

We have

$$
\begin{aligned}
\left\|S_{n, d}^{\lambda}\left(e_{1} ; x\right)-e_{1}\right\|_{C[0,1]} & =\sup _{x \in[0,1]}\left|\frac{d}{n} x+\frac{1-2 x+x^{n+d+1}-(1-x)^{n+d+1}}{n(n+d-1)} \lambda\right| \\
& \leq \frac{d}{n}+\frac{4}{n(n+d-1)}
\end{aligned}
$$

by Lemma 2 . We choose a number $\epsilon>0$ for a given $\epsilon^{\prime}>0$ such that $\epsilon<\epsilon^{\prime}$. If we define following sets:

$$
\begin{aligned}
\Delta & :=\left\{n \in \mathbb{N}:\left\|S_{n, d}^{\lambda}\left(e_{1} ; x\right)-e_{1}\right\|_{C[0,1]} \geqq \epsilon^{\prime}\right\}, \\
\Delta_{1} & :=\left\{n \in \mathbb{N}: \frac{d}{n}+\frac{4}{n(n+d-1)} \geqq \epsilon-\epsilon^{\prime}\right\},
\end{aligned}
$$

we see that the inclusion $\Delta \subset \Delta_{1}$ holds and

$$
\begin{equation*}
\frac{1}{Q_{n}} \sum_{k=0}^{n} q_{k} \sum_{m \in \Delta} a_{k m} \leq \frac{1}{Q_{n}} \sum_{k=0}^{n} q_{k} \sum_{m \in \Delta_{1}} a_{k m} \quad \text { for all } n \in \mathbb{N} . \tag{9}
\end{equation*}
$$

So we have

$$
\begin{equation*}
S_{\mathbf{A}}^{\widetilde{N}}-\lim _{n \rightarrow \infty}\left\|S_{n, d}^{\lambda}\left(e_{1} ; x\right)-e_{1}\right\|_{C[0,1]}=0 \tag{10}
\end{equation*}
$$

as $n \rightarrow \infty$ in (9). By Lemma 2 we have

$$
\begin{aligned}
\left\|S_{n, d}^{\lambda}\left(e_{2} ; x\right)-e_{2}\right\|_{C[0,1]} & =\sup _{x \in[0,1]} \left\lvert\, \frac{2 n d+d^{2}}{n^{2}} x^{2}+\frac{n+d}{n^{2}} x(1-x)\right. \\
& +\frac{2(n+d) x-1-4(n+d) x^{2}+}{n^{2}(n+d-1)} \lambda \\
& \left.+\frac{(2(n+d)+1) x^{n+d+1}+(1-x)^{n+d+1}}{n^{2}(n+d-1)} \lambda \right\rvert\, \\
& \leq \frac{2 n d+d^{2}}{n^{2}}+\frac{2 n+2 d}{n^{2}}+\frac{8(n+d)+2}{n^{2}(n+d-1)} .
\end{aligned}
$$

We also obtain

$$
\begin{equation*}
S_{\mathbf{A}}^{\widetilde{N}}-\lim _{n \rightarrow \infty}\left\|S_{n, d}^{\lambda}\left(e_{2} ; x\right)-e_{2}\right\|_{C[0,1]}=0 \tag{11}
\end{equation*}
$$

since

$$
S_{\mathbf{A}}^{\widetilde{N}}-\lim _{n \rightarrow \infty}\left[\frac{2 n d+d^{2}}{n^{2}}+\frac{2 n+2 d}{n^{2}}+\frac{8(n+d)+2}{n^{2}(n+d-1)}\right]=0 .
$$

Combining (8), 10) and (11), we get desired result.
We now estimate rate of weighted $A$-statistical convergence of operators $S_{n, d}^{\lambda}(f ; x)$.
Definition 17. Let $A=\left(a_{n k}\right)$ be a weighted non-negative regular summability matrix and let $q=\left(q_{n}\right)$ be a sequence of non-negative numbers such that $q_{0}>0$ and $Q_{n}=\sum_{k=0}^{n} q_{k} \rightarrow \infty$ as $n \rightarrow \infty$. Also let $\left(u_{n}\right)$ be a positive non-decreasing sequence. We say that a sequence $x=\left(x_{n}\right)$ is weighted $A$-statistically convergent to $L$ with the rate o $\left(u_{n}\right)$ if

$$
\lim _{n \rightarrow \infty} \frac{1}{u_{n} Q_{n}} \sum_{k=0}^{n} q_{k} \sum_{m:\left|x_{m}-L\right| \geqq \epsilon} a_{k m}=0
$$

This relation is denoted by $\left[\operatorname{stat}_{A}, q_{n}\right]-o\left(u_{n}\right)=x_{n}-L$.
Theorem 18. Let $A=\left(a_{n k}\right)$ be a weighted non-negative regular summability matrix. Assume that following condition yields:
$w\left(f, h_{n}\right)=\left[\operatorname{stat}_{A}, q_{n}\right]-o\left(u_{n}\right)$ on $[0,1]$, where $h_{n}=\sqrt{\left\|S_{n, d}^{\lambda}\left((s-x)^{2} ; x\right)\right\|_{C[0,1+d]}}$.
Then for every bounded $f \in C[0,1+d]$ we have

$$
\left\|S_{n, d}^{\lambda}(f)-f\right\|_{C[0,1]}=\left[s t a t_{A}, q_{n}\right]-o\left(u_{n}\right)
$$

Proof. Let $f \in C[0,1+d]$, then we have

$$
\left|S_{n, d}^{\lambda}(f ; x)-f(x)\right| \leq\left|S_{n, d}^{\lambda}(|f(t)-f(x)| ; x)+A\right| S_{n, d}^{\lambda}(1 ; x)-1 \mid
$$

$$
\begin{aligned}
& \leq \omega(f, \zeta) S_{n, d}^{\lambda}\left(\frac{|t-x|}{\zeta}+1 ; x\right) \\
& =\omega(f, \zeta) S_{n, d}^{\lambda}(1 ; x)+\omega(f, \zeta) \frac{1}{\zeta^{2}} S_{n, d}^{\lambda}\left((t-x)^{2} ; x\right)
\end{aligned}
$$

for any $x, s \in[0,1]$, where $A=\sup _{x \in[0,1]}|f(x)|$. Let $\zeta:=h_{n}$ for all $n \in \mathbb{N}$. Taking supremum over $x \in[0, \infty)$ on both sides, we obtain

$$
\left\|S_{n, d}^{\lambda}(f)-f\right\|_{C[0,1]} \leq \omega\left(f, h_{n}\right)+\omega\left(f, h_{n}\right) \frac{1}{h_{n}^{2}}\left\|S_{n, d}^{\lambda}\left((t-x)^{2} ; x\right)\right\|_{C[0,1+d]}=2 \omega\left(f, h_{n}\right)
$$

We define the following sets for a given $\epsilon>0$ :

$$
\mathcal{S}=\left\{n:\left\|S_{n, d}^{\lambda}(f)-f\right\|_{C[0,1]} \geq \epsilon\right\} \text { and } \mathcal{E}=\left\{n: \omega\left(f, h_{n}\right) \geq \frac{\epsilon}{2}\right\}
$$

It is easy to see the following inequality holds:

$$
\frac{1}{u_{n} Q_{n}} \sum_{k=0}^{n} \sum_{m \in \mathcal{S}} q_{k} a_{k m} \leq \frac{1}{u_{n} Q_{n}} \sum_{k=0}^{n} \sum_{m \in \mathcal{E}} q_{k} a_{k m}
$$

Hence we are led to the fact that

$$
\left\|S_{n, d}^{\lambda}(f)-f\right\|_{C[0,1]}=\left[s t a t_{A}, q_{n}\right]-o\left(u_{n}\right)
$$

by the hypothesis, as asserted by Theorem 18 .

## 4. Voronovskaja-type approximation theorems

Two Voronovskaja-type theorems are established in this part: A quantitative Voronovskaja-type theorem and a Voronovskaja-type approximation theorem by $\bar{S}_{n, d}^{\lambda}(f ; x)$ family of linear operators using the notion of weighted $A$-statistical convergence.

Theorem 19. Let $\left(x_{n}\right)$ be a sequence of real numbers such that $S_{\mathbf{A}}^{\widetilde{N}}-\lim _{n \rightarrow \infty} x_{n}=$ 0 , where $A=\left(a_{n k}\right)$ is a weighted non-negative regular summability matrix. Also let $\bar{S}_{n, d}^{\lambda}(f ; x)$ be a sequence of positive linear operators acting from $C_{B}[0,1+d]$ into $C[0,1+d]$ defined by

$$
\bar{S}_{n, d}^{\lambda}(f ; x)=\left(1+x_{n}\right) S_{n, d}^{\lambda}(f ; x) .
$$

Then for every $f \in C_{B}[0,1+d]$ we have

$$
S_{\mathbf{A}}^{\widetilde{N}}-\lim _{n \rightarrow \infty} n\left\{\bar{S}_{n, d}^{\lambda}(f ; x)-f(x)\right\}=x d f^{\prime}(x)+\frac{x(1-x)}{2} f^{\prime \prime}(x)
$$

where $f^{\prime}, f^{\prime \prime} \in C_{B}[0,1+d]$.
Proof. Let $x \in[0,1]$ and $f^{\prime \prime} \in C_{B}[0,1+d]$. Applying $\bar{S}_{n, d}^{\lambda}(f ; x)$ to both sides of Taylor's expansion theorem, we have

$$
\bar{S}_{n, d}^{\lambda}(f ; x)-f(x)=f^{\prime}(x) \bar{S}_{n, d}^{\lambda}(t-x ; x)+\frac{f^{\prime \prime}(x)}{2} \bar{S}_{n, d}^{\lambda}\left((t-x)^{2} ; x\right)
$$

$$
+\bar{S}_{n, d}^{\lambda}\left((t-x)^{2} r_{x}(t) ; x\right)
$$

which yields to

$$
\begin{aligned}
& n\left\{\bar{S}_{n, d}^{\lambda}(f ; x)-f(x)\right\}=n f^{\prime}(x)\left(1+x_{n}\right) S_{n, d}^{\lambda}(t-x ; x) \\
& \quad+\frac{n}{2} f^{\prime \prime}(x)\left(1+x_{n}\right) S_{n, d}^{\lambda}\left((t-x)^{2} ; x\right)+n\left(1+x_{n}\right) S_{n, d}^{\lambda}\left((t-x)^{2} r_{x}(t) ; x\right)
\end{aligned}
$$

We also have from Corollary 3

$$
S_{n, d}^{\lambda}(t-x ; x) \leq \frac{d}{n} x+\frac{1+2 x+x^{n+d+1}+(1-x)^{n+d+1}}{n(n+d-1)}:=E(n, d, x)
$$

and again from Corollary 3

$$
\begin{aligned}
& S_{n, d}^{\lambda}\left((t-x)^{2} ; x\right) \leq \frac{d^{2}}{n^{2}} x^{2}+\frac{n+d}{n^{2}} x(1-x)+\frac{2 x^{n+d+2}+2 x(1-x)^{n+d+1}}{n(n+d-1)} \\
& \quad+\frac{2 d x+1+4 d x^{2}+(2(n+d)+1) x^{n+d+1}+(1-x)^{n+d+1}}{2 n(n+d-1)} \lambda:=F(n, d, x)
\end{aligned}
$$

Hence we have

$$
\begin{aligned}
& \left\lvert\, n\left\{\bar{S}_{n, d}^{\lambda}(f ; x)-f(x)\right\}-f^{\prime}(x) d x-f^{\prime}(x) \frac{1-2 x+x^{n+d+1}-(1-x)^{n+d+1}}{n+d-1} \lambda\right. \\
& \quad-f^{\prime \prime}(x)\left(\frac{d^{2}}{2 n} x^{2}+\frac{n+d}{2 n} x(1-x)-\frac{x^{n+d+2}-x(1-x)^{n+d+1}}{n+d-1} \lambda\right. \\
& \left.\quad+\frac{2 d x-1-4 d x^{2}+(2(n+d)+1) x^{n+d+1}+(1-x)^{n+d+1}}{2 n(n+d-1)} \lambda\right) \mid \\
& =n f^{\prime}(x) x_{n} S_{n, d}^{\lambda}(t-x ; x)+\frac{n}{2} f^{\prime \prime}(x) x_{n} S_{n, d}^{\lambda}\left((t-x)^{2} ; x\right) \\
& +n\left(1+x_{n}\right) S_{n, d}^{\lambda}\left((t-x)^{2} r_{x}(t) ; x\right) \\
& \leq x_{n}\left\{f^{\prime}(x) \bar{E}(n, d, x)+\frac{f^{\prime \prime}(x)}{2} \bar{F}(n, d, x)\right\}+n\left(1+x_{n}\right) S_{n, d}^{\lambda}\left((t-x)^{2} r_{x}(t) ; x\right) \\
& \leq x_{n}\left\{\sup _{x \in[0,1]}\left|f^{\prime}(x)\right| \bar{E}(n, d, x)+\frac{1}{2} \sup _{x \in[0,1]}\left|f^{\prime \prime}(x)\right| \bar{F}(n, d, x)\right\} \\
& +n\left(1+x_{n}\right) S_{n, d}^{\lambda}\left((t-x)^{2} r_{x}(t) ; x\right),
\end{aligned}
$$

where $\bar{E}(n, d, x)=n E(n, d, x)$ and $\bar{F}(n, d, x)=n F(n, d, x)$. Since we have

$$
S_{\mathbf{A}}^{\widetilde{N}}-\lim _{n \rightarrow \infty} n\left(S_{n, d}^{\lambda}\left((t-x)^{2} r_{x}(t) ; x\right)\right)=0
$$

and $S_{\mathbf{A}}^{\widetilde{N}}-\lim _{n \rightarrow \infty} x_{n}=0$, we get desired result.
A quantitative Voronovskaja-type theorem for $S_{n, d}^{\lambda}(f ; x)$ is established using Ditzian-Totik modulus of smoothness defined as

$$
\omega_{\tau}(f, \zeta):=\sup _{0<|h| \leq \zeta}\left\{\left|f\left(x+\frac{h \tau(x)}{2}\right)-f\left(x-\frac{h \tau(x)}{2}\right)\right|, x \pm \frac{h \tau(x)}{2} \in[0,1]\right\},
$$

where $\tau(x)=(x(1-x))^{1 / 2}$ and $f \in C[0,1+d]$, and corresponding Peetre's $K$ functional is defined by

$$
K_{\tau}(f, \zeta)=\inf _{g \in W_{\tau}[0,1+d]}\left\{\|f-g\|+\zeta \| \tau g^{\prime 1}[0,1+d], \zeta>0\right\}
$$

where $W_{\tau}[0,1+d]=\left\{g: g \in A C_{l o c}[0,1+d],\left\|\tau g^{\prime}\right\|<\infty\right\}$ and $A C_{l o c}[0,1+d]$ is the class of absolutely continuous functions defined on $[a, b] \subset[0,1+d]$. There exists a constant $C>0$ such that

$$
K_{\tau}(f, \zeta) \leq C \omega_{\tau}(f, \zeta)
$$

Theorem 20. Let $f, f^{\prime}, f^{\prime \prime} \in C[0,1+d]$, then we have

$$
\left|S_{n, d}^{\lambda}(f ; x)-f(x)-\beta_{n, \lambda}(x) f^{\prime}(x)-\frac{\alpha_{n, \lambda}(x)+1}{2} f^{\prime \prime}(x)\right| \leq \frac{C}{n} \tau^{2}(x) \omega_{\tau}\left(f^{\prime \prime}, \frac{1}{\sqrt{n}}\right)
$$

for every $x \in[0,1]$ and sufficiently large $n$, where $C$ is a positive constant, $\alpha_{n, \lambda}(x)$ and $\beta_{n, \lambda}(x)$ are defined in Theorem 9.

Proof. Consider following equality

$$
f(t)-f(x)-(t-x) f^{\prime}(x)=\int_{x}^{t}(t-u) f^{\prime \prime}(u) d u
$$

for $f \in C[0,1+d]$. It means we have

$$
\begin{equation*}
f(t)-f(x)-(t-x) f^{\prime}(x)-\frac{f^{\prime \prime}(x)}{2}\left((t-x)^{2}+1\right) \leq \int_{x}^{t}(t-u)\left[f^{\prime \prime}(u)-f^{\prime \prime}(x)\right] d u \tag{12}
\end{equation*}
$$

Applying $S_{n, d}^{\lambda}(f ; x)$ to both sides of 12 , we obtain

$$
\begin{align*}
& \left|S_{n, d}^{\lambda}(f ; x)-f(x)-S_{n, d}^{\lambda}((t-x) ; x) f^{\prime}(x)-\frac{f^{\prime \prime}(x)}{2}\left(S_{n, d}^{\lambda}\left((t-x)^{2} ; x\right)+S_{n, d}^{\lambda}(1 ; x)\right)\right| \\
& \leq S_{n, d}^{\lambda}\left(\left|\int_{x}^{t}\right| t-u| | f^{\prime \prime}(u)-f^{\prime \prime}(x)|d u| ; x\right) . \tag{13}
\end{align*}
$$

The quantity in right hand side of 13 can be estimated as

$$
\begin{equation*}
\left|\int_{x}^{t}\right| t-u| | f^{\prime \prime}(u)-f^{\prime \prime}(x)|d u| \leq 2\left\|f^{\prime \prime 2}+2\right\| \tau g^{\prime-1}(x)|t-x|^{3} \tag{14}
\end{equation*}
$$

where $g \in W_{\tau}[0,1+d]$. There exists $C>0$ such that

$$
\begin{equation*}
S_{n, d}^{\lambda}\left((t-x)^{2} ; x\right) \leq \frac{C}{2 n} \tau^{2}(x) \quad \text { and } \quad S_{n, d}^{\lambda}\left((t-x)^{4} ; x\right) \leq \frac{C}{2 n^{2}} \tau^{4}(x) \tag{15}
\end{equation*}
$$

for sufficiently large $n$. Using Cauchy-Schwarz inequality, we have

$$
\begin{aligned}
& \left|S_{n, d}^{\lambda}(f ; x)-f(x)-S_{n, d}^{\lambda}((t-x) ; x) f^{\prime}(x)-\frac{f^{\prime \prime}(x)}{2}\left(S_{n, d}^{\lambda}\left((t-x)^{2} ; x\right)+S_{n, d}^{\lambda}(1 ; x)\right)\right| \\
& \leq 2\left\|f^{\prime \prime}-g\right\| S_{n, d}^{\lambda}\left((t-x)^{2} ; x\right)+2 \| \tau g^{\prime-1}(x) S_{n, d}^{\lambda}\left(|t-x|^{3} ; x\right)
\end{aligned}
$$

$$
\begin{aligned}
& \leq \frac{C}{n} x(1-x)\left\|f^{\prime \prime}-g\right\|+2 \| \tau g^{\prime-1}(x)\left\{S_{n, d}^{\lambda}\left((t-x)^{2} ; x\right)\right\}^{1 / 2}\left\{S_{n, d}^{\lambda}\left((t-x)^{4} ; x\right)\right\}^{1 / 2} \\
& \leq \frac{C}{n} \tau^{2}(x)\left\{\left\|f^{\prime \prime-1 / 2}\right\| \tau g^{\prime} \|\right\}
\end{aligned}
$$

by (133-15). Taking infimum on the right-hand side over all $g \in W_{\tau}[0,1+d]$, we deduce

$$
\left|S_{n, d}^{\lambda}(f ; x)-f(x)-\beta_{n, \lambda}(x) f^{\prime}(x)-\frac{\alpha_{n, \lambda}(x)+1}{2} f^{\prime \prime}(x)\right| \leq \frac{C}{n} \tau^{2}(x) \omega_{\tau}\left(f^{\prime \prime}, \frac{1}{\sqrt{n}}\right) .
$$

Finally we obtain the following theorem applying Taylor's expansion theorem and as an immediate consequence of Lemma (22), Corollary (3) and Corollary (4):

Theorem 21. Let $f \in C_{B}[0,1+d]$, then for each $x \in[0,1]$

$$
\lim _{n \rightarrow \infty} n\left\{S_{n, d}^{\lambda}(f ; x)-f(x)\right\}=x d f^{\prime}(x)+\frac{x(1-x)}{2} f^{\prime \prime}(x)
$$

uniformly on $[0,1]$, where $f^{\prime}, f^{\prime \prime} \in C_{B}[0,1+d]$
As an immediate consequence of Theorem 20 we have the following result.
Corollary 22. Let $f \in C[0,1+d]$, then

$$
\lim _{n \rightarrow \infty} n\left[S_{n, d}^{\lambda}(f ; x)-f(x)-\beta_{n, \lambda}(x) f^{\prime}(x)-\frac{\alpha_{n, \lambda}(x)+1}{2} f^{\prime \prime}(x)\right]=0,
$$

where $f^{\prime}, f^{\prime \prime} \in C_{B}[0,1+d]$, and $\alpha_{n, \lambda}(x)$ and $\beta_{n, \lambda}(x)$ are defined in Theorem 9 .

## 5. Concluding Remarks

A Korovkin type approximation theorem via $K_{a}$-convergence on weighted spaces is studied by Yıldiz et al. in [31 and a new concept, statistical e-convergence, is introduced by Sever and Talo in [18, 24, 32. As a future work we may study the approximation properties of operators defined in this article and other Bernstein type operators using those convergence types. The results of the paper will also be extended to $\lambda$-Schurer-Kantorovich and $\lambda$-Schurer-Stancu operators using $\lambda$-BézierSchurer bases defined in (1).

## References

[1] Acu, A.M., Acar, T., Muraru, C.V., Radu, V.A. Some approximation properties by a class of bivariate operators, Mathematical Methods in the Applied Sciences, 42 (2019), 1-15.
[2] Ansari, K., Ahmad, I., Mursaleen, M., Hussain, I. On some statistical approximation by $(p, q)$-Bleimann, Butzer and Hahn operators. Symmetry, 10(12) (2018), 731.
[3] Bernstein, S.N. Demonstration du theoreme de Weierstrass fondee sur le calcul des probabilites, Communications of the Kharkov Mathematical Society, 13(2) (1912),1-2.
[4] Butzer, PL., Berens, H. Semi-groups of operators and approximation, Springer, New York, 1967.
[5] Cai, Q.B., Zhou, G., Li, J. Statistical approximation properties of $\lambda$-Bernstein operators based on q-integers, Open Mathematics, 17(1) (2019), 487-498.
[6] Cai, Q-B., Lian, B-Y., Zhou, G. Approximation properties of $\lambda$-Bernstein operators, J. Ineq. and App. (2018) 2018:61.
[7] Ditzian, Z., Totik, V. Moduli of Smoothness, Springer, New York, 1987.
[8] Fast, H. Sur la convergence statistique, Colloq. Math., 2 (1951), 241-244.
[9] DeVore, R.A., Lorentz, G.G. Constructive Approximation, Springer, Berlin, 1993.
[10] Gadjiev, A.D., Orhan, C. Some approximation properties via statistical convergence, Rocky Mountain J. Math., 32 (2002), 129-138.
[11] Kadak, U. Weighted statistical convergence based on generalized difference operator involving ( $p, q$ )-gamma function and its applications to approximation theorems, J. Math. Anal. Appl., 448 (2017), 1663-1650.
[12] Kadak, U., Braha, N.L., Srivastava, H.M. Statistical weighted $B$-summability and its applications to approximation theorems, Appl. Math. Comput., 302 (2017), 80-96.
[13] Kajla, A., Ispir, N., Agrawal, P.N., Goyal, M. $q$ - Bernstein-Schurer-Durrmeyer type operators for functions of one and two variables, Appl. Math. Comput., 275 (2016), 372-385.
[14] Kanat, K., Sofyaloglu, M. Some approximation results for (p, q)-Lupas-Schurer operators, Filomat, 32(1) (2018), 217-229.
[15] Khan, K., Lobiyal, D.K. Beźier curves based on Lupaş (p, q)-analogue of Bernstein functions in CAGD, Journal of Computational and Applied Mathematics, 317 (2017), 458-477.
[16] Mohiuddine, S.A., Alotaibi A., Hazarika B. Weighted $A$-statistical convergence for sequences of positive linear operators, Sci. World J., (2014) no. 437863.
[17] Mohiuddine, S.A. Statistical weighted $A$-summability with application to Korovkin's type approximation theorem, J. Ineq. and App., (2016) 2018:101.
[18] Orhan, S., Demirci, K. $K_{a}$-convergence and Korovkin type approximation, Periodica Mathematica Hungarica, 77(1) (2018), 108-118.
[19] Ozarslan, M.A., Aktuğlu, H. Local approximation for certain King type operators, Filomat, (2013) 27(1), 173-181.
[20] Özger, F. Weighted statistical approximation properties of univariate and bivariate $\lambda$-Kantorovich operators, Filomat, 33(11) (2019), 3473-3486.
[21] Peetre, J. Theory of interpolation of normed spaces. Notas Mat. Rio de Janeiro, 39 (1963), 1-86.
[22] Pop, O.T., Barbosu, D., Piscoran, L.I. Bezier type curves generated by some class of positive linear operators, Creat. Math. Inform., 19 (2010), 191-198.
[23] Rahman, S., Mursaleen, M., Acu, A.M. Approximation properties of $\lambda$-BernsteinKantorovich operators with shifted knots, Mathematical Methods in the Applied Sciences, 42(11) (2019), 4042-4053.
[24] Sever, Y., Talo, Ö. On statistical e-convergence of double sequences, Iranian Journal of Science and Technology, Transactions A: Science, 42(12) (2018), 1-6.
[25] Schurer, F. Linear positive operators in approximation theory, Math. Inst. Techn. Univ. Delft:Report, 1962.
[26] Srivastava, H.M., Özger, F., Mohiuddine, S.A. Construction of Stancu-type Bernstein operators based on Bézier bases with shape parameter $\lambda$, Symmetry, 11(3) (2019), Article 316.
[27] Steinhaus, H. Sur la ordinaire et la convergence asymptotique, Colloq. Math., 2 (1951), 73-74.
[28] Wafi, A., Rao, N. Bivariate-Schurer-Stancu operators based on ( $p ; q$ )-integers, Filomat, 32(4) (2016), 1251-1258.
[29] Winkel, R. On a generalization of Bernstein polynomials and Bezier curves based on umbral calculus, Computer Aided Geometric Design, 31(5) (2014), 227-244.
[30] Ye, Z., Long, X., Zeng, X.-M. Adjustment algorithms for Bezier curve and surface, International Conference on Computer Science and Education, (2010) 1712-1716.
[31] Yıldız, S., Dirik, F., Demirci, K. Korovkin type approximation theorem via $K_{a^{-}}$ convergence on weighted spaces, Mathematical Methods in the Applied Sciences, (2018) doi:10.1002/mma.5391.
[32] Yıldız, S. Korovkin theorem via statistical e-modular convergence of double sequences, Sakarya University Journal of Science, 22(6) (2018), 1743-1751.

Current address: Department of Engineering Sciences, İzmir Katip Çelebi University, 35620, İzmir, Turkey

E-mail address: farukozger@gmail.com
ORCID Address: http://orcid.org/0000-0002-4135-2091


[^0]:    Received by the editors: January 08, 2019; Accepted: November 06, 2019.
    2010 Mathematics Subject Classification. 40A05, 41A10, 41A25, 41A36.
    Key words and phrases. Bezier bases, shape parameter, $\lambda$-Schurer operators, weighted $A$ statistical convergence.

